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Question 1
Question Type: MultipleChoice

Agile Controller-Campus The system architecture belongs to C/S Architecture.

Options: 
A- True

B- False

Answer: 
B

Question 2
Question Type: MultipleChoice

Agile Controller-Campus The product architecture includes three levels. Which of the following options does not belong to the product

architecture level?



Options: 
A- Server layer

B- Network device layer

C- Access control layer

D- User access layer

Answer: 
C

Question 3
Question Type: MultipleChoice

Regarding the trigger mechanism of 802.1X authentication, which of the following descriptions is correct? (multiple choice)

Options: 



A- 802.1X Authentication can only be initiated by the client.

B- 802.1X Certification can only be done by certified equipment(like 802.1X switch)Initiate

C- 8021X The client can trigger authentication through multicast or broadcast.

D- The authentication equipment department triggers authentication through multicast or unicast.

Answer: 
C, D

Question 4
Question Type: MultipleChoice

Configuring WLAN device detection can realize the monitoring of the entire network, but you need to set the working mode of the AP

first, which of the following options are.

What is the working mode of AP? (multiple choice)

Options: 
A- access mode



B- Normal mode

C- Mixed mode

D- Monitoring mode

Answer: 
B, D

Question 5
Question Type: MultipleChoice

In centralized networking, database,SM server,SC server\ AE Servers are centrally installed in the corporate headquarters. This

networking method is suitable for companies with a wide geographical distribution of users and a large number of users.

Options: 
A- True

B- False



Answer: 
B

Question 6
Question Type: MultipleChoice

When the -aa command is used on the access control device to test the connectivity with the Radius server, the running result shows

success, but the user cannot Normal access, the possible reason does not include which of the following options?

Options: 
A- The access layer switch does not start EAP Transparent transmission function.

B- wireless 02K In the scenario, the access control device is not equipped with a security board

C- AD The service controller is not added in the authentication scenario AD area.

D- The user account or password is incorrectly configured.

Answer: 
D



Question 7
Question Type: MultipleChoice

Which of the following options is not a scenario supported by Free Mobility?

Options: 
A- Intranet users access the data center/Internet.

B- When traveling users access intranet resources, traveling users pass VPN Access to the intranet.

C- Work as a team.

D- Realize mutual communication between devices.

Answer: 
D

Question 8
Question Type: MultipleChoice



How to check whether the MC service has started 20?

Options: 
A- View in task manager TMCSever Whether the service is started.

B- View in task manager TMCServerDaemon Whether the service is started.

C- View in task manager TMCServer with TMCSeverDaemon Whether the service is started.

D- Select on the server'Start>all programs> Huawei> Agile Cortroler> Sever rtrller',an examination MC Whether the status is'run'.

Answer: 
C

Question 9
Question Type: MultipleChoice

Which of the following options are correct for the description of visitor management? (Multiple choice)



Options: 
A- Visitor registration account can be configured to be exempt from approval

B- Guest login can only be configured as Web Way of webpage

C- Anonymous account authentication cannot be performed on the guest authentication page

D- Visitor account approval information can be notified to visitors via SMS

Answer: 
A, D

Question 10
Question Type: MultipleChoice

Visitor management can authorize visitors based on their account number, time, location, terminal type, access method, etc., and can

also push personalized pages to visitors based on time, location, and terminal type.

Options: 
A- True



B- False

Answer: 
A

Question 11
Question Type: MultipleChoice

What are the three main steps of business free deployment? (Multiple choice)

Options: 
A- Define security group

B- Define and deploy group policies

C- The system runs automatically

D- Security group reported by the system

E- Define user groups



Answer: 
A, B, C
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